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PERCENTAGES 

            ‘Word Problems’ 

Word problems having percentages are easy to solve. You just have 

to understand and analyze the problem and solve it accordingly.  

Let’s look at the example below to understand properly. 

 

Example:  

There are 25 balls in the basket. 20 balls are green. What percentage of the 

balls is green? 

Solution: 

Number of green balls = 15 

Total balls = 25 

Percentage of green balls = 
𝟐𝟎×𝟒

𝟐𝟓×𝟒
 = 

𝟖𝟎

𝟏𝟎𝟎
 = 80% 

 

Example:  

There are 40 children in the class. Among them, 25% are girls. What is the 

number if girls in the class? 

Solution: 

We will multiply the total number of children in the class with the percentage of 

girls to get to the final answer. 

25% of 40 = 
𝟐𝟓

𝟏𝟎𝟎
 × 40 = 

𝟏

𝟒
 × 40 = 10 

So there are 10 girls in the class. 

 

 


